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All |4 3 Ml A
US| JIEISHE N MU RE B S
MH S (DI ML /TH 2T
(=E L
- SR(ZAH) - MR A a5 J|E Hlws2
83,637,046 86,591,569 A2,954,523
= 13,141,061 13,052,811 88,250
= 10,905 7,905 3,000
Al 70,485,080 73,530,853 A3,045,773
M S (ZREAMUOHE /LT - 2 23,316,756 23,225,206 91,550
BB HS5Hs QHEE TAIZR
= 12,960,718 12,872,468 88,250
= 10,905 7,905 3,000
Al 10,345, 133 10,344,833 300
1,564,756 1,473,206 91,550
oHlP OIMAY U HH| 23
3,175 2t 7
= 703,718 615,468 88,250
= 10,905 7,905 3,000
Al 850, 133 849,833 300
% 21,204 18,204 3,000
= 6,866 6,866 0
s 10,905 7,905 3,000
Al 3,433 3,433 0
IS X =01H 21,204 18,204 3,000
= 6,866 6,866 0
= 10,905 7,905 3,000
Al 3,433 3,433 0
=2x 21,204 18,204 3,000
20124 20| GHHAIL AX
2 21,204,008 21,204 18,204 3,000
= 6,866 6,866 0
s 10,905 7,905 3,000
Al 3,433 3,433 0
380,460 380, 160 300
300 0 300
| 300 0 300
) el g sy 50,0002 *62 300 0 300
o =R (ARUTH) 88,250 0 88,250
= 88,250 0 88,250
SIS K20 | 83,250 0 88,250
= 88,250 0 88,250
=2x 88,250 0 88,250
= AT =2 88,250 0 88,250
= 88,250 0 88,250
HIATHSH 22 (SDEMYCHE /T LT - 1,899,331 1,949,331 A50,000
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M HAJAE HIAUHEMH 2/ (SSEMLA/THLHLT - ele2)
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o2l HIACHHIEN A =8 (g ®
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH J| & @ Hns2
= 180,343 180,343 0
Al 1,718,988 1,768,988 A50,000
HIACHHIER Al 22 1,291,452 1,341,452 A50,000
_ Dlgte BECL)| LSAIHSE D
SBXE 1L 7 =
SHET 2EX 27 WA
= 17,500 17,500 0
Al 1,273,952 1,323,952 A50,000
olgrel ARAIA e 439,028 489,028 A50,000
401 AlEH L2 80,000 130,000 A50,000
01 Al&HI 80,000 130,000 A50,000
MEA SAAH WRNEZE L AE HEF o 0 50,000 A50,000
AN BLMA FEHID LY SE25 L LAY 19,595,001 21,060,573 A1,465,572
EH(Z2ENYLOHE /T - 018t))
qpepg . SNHRLIL FEIS KoY ¥ Iy
&
NAEBALS HUHUSHM RS (AL NLEY 709,082 713,832 A4, 750
2 H)
ADXE 1: SHYAS 242 2HE
SEE T 2EX : 100 %
SAIS YT 22l 659,927 664,677 A4, 750
301 Yt A2 0 4,750 A4, 750
10 SAIAHI BAR 0 4,750 A4, 750
Q2G| ASAIR L BE XA MOHA 0 4,750 A4,750
AN LA FHXN DALY =X (AKX 2L A 18,885,919 20,346,741 A1,460,822
MesgsH)
AN BLHA FEHID DAY =
AUNE 1 5%;: Al At
golEE 28X 4 A
WSR2 X2 11,451,600 12,976,600 A1,525,000
308 XIXISHSOIH 11,451,600 12,976,600 A1,525,000
04 WEBE2 11,451,600 12,976,600 A1,525,000
WEEE2 ZE 11,451,600,0002 11,451,600 12,976,600 A1,525,000
AT K &H 23 530,000 500,000 30,000
402 DIZERFEOIAN 530,000 500,000 30,000
01 DIZEI=E X 530,000 500,000 30,000
J2IE 1000t 22X ZA 530,000,000 530,000 500,000 30,000
ISRl 654,319 620, 141 34,178
801 0t 654,319 620, 141 34,178
01 ofitlyl 654,319 620, 141 34,178
CIEIEE] 2 654,319,000 654,319 620, 141 34,178
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HA: HRES(WHO M) (SBENLE /LT - 2
Sl LHRIH RIS (91
SA-BH.C(BH) - HRAY - B O A+ 24 )= e Rz
WSS (RS2 (BB EAMYLOT /YT - 2 38,714,827 40,245,328 A1,530,501
EE))
AN 38,564,645 40,095,146 A1,530,501
TESE P 38,564,645 40,095,146 A1,530,501
701 JIEEHEE2 18,771,599 20,302, 100 A1,530,501
01 JIEHSIHFHES 18,771,599 20,302,100 ~1,530,501
AR L F T SN L S5
2 18,771,599,0002 18,771,599 20,302,100 A1,530,501




